
spare part list: GT824 Econom CL for sheep

GT369208 spring

GT369202 housing cover GT369205 lever

GT369206 + GT369207 
clamping claw, left+right

GT586139 compression 
bearing bush

GT369801 housing bottom

1



spare part list: GT824 Econom CL for sheep

GT369209 pressure rod GT369213 eccentric shaft

GT369312 spur gear with shaftGT369214 bearing bush

TA004029 O-ring TA008542 felt ring

2



spare part list: GT824 Econom CL for sheep

GT586239 spring ring GT620021 hexagon nut M4

GT620023 spring tooth washer GT620203 lever bolt

GT620208 nut GT620306 nut

3



spare part list: GT824 Econom CL for sheep

GT630015 clamping screw GT630204 retaining spring

TA003816 hexagon socket M5x15

TA003817 hexagon nut M5

TA003834 hexagon nut M3

TA010017 screw M4x16 

4



spare part list: GT824 Econom CL for sheep

TA007573 screw M4x16 TA008588 screw M3x8

GT369814 repair set spur gear 
complete

5



spare part list: GT824 Econom CL for sheep

GT800215 PT-screw GT800240 ring O engine

GT804249 switch GT800895 engine compl. packed

GT800222 spring clip GT820819 hard case

6



spare part list: GT824 Econom CL for sheep

TA015296 case sticker GT820850 PCB

GT820801 lower case GT800802 upper case

GT800804 filter GT604 oil packed

7



spare part list: GT824 Econom CL for sheep

TA009222 screwdriver

TA012170 cable EU TA012168 cable USA, 
Canada 

TA012169 cable UK

TA013657 cable AU

GT803 charger

8



spare part list: GT824 Econom CL for sheep

GT821 Li-Io-batterie

2021/03/08

9


	Foliennummer 1
	Foliennummer 2
	Foliennummer 3
	Foliennummer 4
	Foliennummer 5
	Foliennummer 6
	Foliennummer 7
	Foliennummer 8
	Foliennummer 9

